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The density of iron is 7.86g/cm?® and the atomic weight of iron is 55.8. Calculate the average
volume per atom. Then, estimate the average distance of iron atoms taking the cubic-root of the
volume. (N4 = 6.02 x 10?3 1/mol.)
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An ideal gas expands at a constant pressure of 5.0 x 10°Pa from 400cm? to 640cm®. During

the expansion, heat of 100cal flows into the gas. What is the change in internal energy of the gas?
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There is an uniform electric field in the space. The electric potential is 5V at the points
A(2,0,0), B(5,0,0), and C(2,0,3). The electric potential is 9V at the point D(2,2,0). (7F : FEAE
OfEIX m BALE BT 52 8,)

(1) What is the direction of the electric field?

(2) What is the magnitude of the electric field?

(3) What is the electric potential at the point F(4,10,1)7
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There are four long parallel wires. In the plane perpendicular to them, they make four corners
of a square ABCD whose side is length a. The current in each wire is I and the direction of current
in A and C is opposite to that in B and D. Determine the magnitude of the force per unit length
on one wire.
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force per unit length=




@ What is the current I of the circuit in the figure?
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